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Practice Test #2 — Ch. 2 & 3
Beginning Algebra — M110

Instructions: You may not use a calculator on this test so don’t use one to practice. On the actual exam,
all work must be shown in order to receive all points for all questions so practice showing all work.
Practice boxing your final answer. Any answer that is a fraction must be in lowesi terms and as mixed
number for full credit. Since you can use a 5x8 notecard on the test use your notecard to practice or make
one based on the problems you got wrong. Happy studying!

1. Show the exact translation of the expression and don’t simplify.
Subtract (3.1x + 5) from (5.3x — 11.8)

(9 -N8) — Blx+5)

2. Fill in the following table by making the conversions between decimals,
fractions/mixed #’s and percentages. Work must always be shown — 1 have left room
below the table for that purpose. Do not round or approximate.
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3. Multipl

ivide. All problems must use decimals and must show decimal placement and

movement and/or borrowing. Do not round. For repeating, non-terminating decimals use a bar to

show repeat.
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4. Change subtraction to addition. Do not add and do not simplify pastxthe add1t10n
a) 14 - (1) @mc,e%wlmh b) -89 - 19 c) 27 -(-13)
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5. Add/Subtract. Fractions must be used. 3@ 0\ % < D= 23 3.
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6. Translate the following exactly. Don’t simplify after or during translation. Use x
to represent any unknown number.
a) Three subtracted from twice a number.

ST % -3\

b) The quotient of 19 and a number \
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c) Joe is twelve years older than Zhang. Wnte an expression for Joe’s age if

you assume Zhang is the unknown number. ——
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7. Evaluate using order of operations (show all work; each step in order of op.; numerator and
denominator must both be taken to a single number regardless of the final answer)

a) 152 +34 - 12+ 47 O-(pw=-8 b 15+3+2 _ Bt6_ 20
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8. Evaluate (use fractions): —3mn + n when m=-2 & n=
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Let the value of a car be “v

6,22

“t” (in years), car’s value decreases by 4 thousand dollars.

a)

b)

=M

Complete the table below for this scenario. (Be careful.)

v” (in thousands of dollars). Every year after the car is purchased,

t (in years) v (in $1000) <>Cb0 =5kt
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Make a scattergram for the ordered pairs represented in the table in part a).

Scale the dependent axis by 4’s and the independent axis by 1’s(use every 2™ one

to make a better picture; skip a line in other words). Just represent the first quadrant.
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On the scattergram in part b) draw a 1 near model
Z&/ ,&L D W/l/%
Predict value of the car after 7 years accordmg 0 your hnear
model. Show your work with lines on the model. Give the answer here

with correct units 1>52 ‘“\’\W\Q Us Cmd

Use your model to estimate how many years until the car will be worth
$12 thousand. Give the answer here with correct units

2L years,

What does the y-intercept mean for this model?
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10.  OnJune 1, 1997, there were 200 webpages and the number of webpages was increasing
by 6 every 5 weeks. Let p be the total number of webpages in w weeks since June 1,

1997.
a) Give the dependent variable (as a variable based on the story above).
P = Totd W ot web peqes
b) Give the independent variable (as a variable based on the story above).

W = weeks Sivnce L/]aT
c) What is the baseline (start value)?
200 weboy a\:)@S

d) What is the rate of change? Use units. Leave as a fraction.
' o fperqes
weak&
e) Give the linear equation for this situation.

?z %W*QQO

f) Give a t-table of 3 values for the model that you gave that satisfy the scenario.
w P
O 200
5 2060
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11. Give the equation in slope-intercept form, of the line passing through (0, -1) t

perpendicular to y=5x + 1.

-\
/ R O

12.  Any line parallel to the line vy = 5x — 3 will have the \/3 \‘SCK\’Y\ Q&
slope, but a \ d‘i @crm\ \(X\G)V -3 >y—intercept.
 —

13.  Give the equation of a horizontal line through the point (7, -1.2/) ; =\ 5
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14.  Give the equation of a vertical line through the point (s 2) = \X - /1 l

Cbx—_: whel x-cooveduncte s

15.  What is the slope the line through each of the following set of ordered pairs.
Show work or indicate how you know. Do not use a graph to show work.

a) (7.9) & (-2,9) b)  (5-9) and (-4, 9)
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in the graph, using the two points shown. The

16.  Give the equation for the line shown in
equation of the line must be given in slope-intercept form for full credit. Show work for
the slope.
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17.  For the equation: =Yx -1
a) On the line prov1ded glve the y-mtercelz an ordered pair. (JO -\ )
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b) On the line provided, give the slope. m = "{Z 3
Indicate how you arrived at thls ans _tr here.
Nomanc ceedt o "5’
c) Graph the line here using é AS
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Note: The actual test might have a few multiple choice problems and fewer parts a), b), ¢) etc.

Jor problems like the decimal operations.



